packet timestamp

le7

io_group =2 o group =1

io_group = 3

io_group =5 io_group = 4

io_group = 6

1.0 4 - e T T
= T =0 G @00 ciDGe GEil o GO §
T @ 3O Gond A 0 O
0.5 7 §u = Em & M@ O s el I B =
s B ok @ed Gl SEREE @ = @
?8 {le? e —memn B DD e — O
0 [T X CF—T T ——————
- s - * + BB ==
- = " = = s somms =
0.5 1
* - — " e s &
-_ BE sE BB B WE s @
?_B—_le_"‘lp TR B T EEYT Y -
0 4 e C——————aaa—
- - s Sem -
- Sem Ty T .
0.5 1
 WmE 8- - sEam
- W VI e -
?8 {e? -o - mw - ——— -
‘0 4 C X Tk 3 C——— —— —aaar—
-ma = = CERENY
- 8 s - s - e .
0.5 1
- . . - s e -
- - - = - . -
?.8—19? wom s smw | s mess o
.0 [ ——————————
SIS S W B =S W
W WS N W
0.5 1
BB s BB b MED SRS B
o s S WS
?8 Jle? PN T ETTY T -
U [————>—————————
B MEE SEBES EE W
- ¢ B W RS
0.5 1
T R TT T Y T
8 MEE 8 I B8 W
?8 {1e? -0 I -
AT [ —————
- E e s B 8 -
- o= s & m- -
0.5 1
sE & sEme . - s
L] * AR W - »
?8 Jle? [ e T TE -
U e .
HeEn B = [T T T
- 8 BB SR B S
0.5 1
- m B A - .
T ] - S EE A & W
0.0 1 | | | | -8 -I-l - — 0
0 50000 100000 150000 200000

packet index

io_group = 8 io_group =7



timestamp

le7

1.0+

0.8

o
h
1

=
=
1

0.2 A

0.0

data packets -
Irs triggers
PPS packets

other o = o e . it —— ——

timestamp packets

EOOmEE @ STIEETTE O W m. - — I B IS G
OECETIE E@mOEIE D O O . — - — I S SIS W ¢ RGN BB E—
0 OME D DRI I D O . SE— — N IS EESE DS

T T T T
50000 100000 150000 200000
packet index




20000 +

15000 ~

10000

5000 ~

o3

timestamp

le6




pPalkREL INUca

200000 1 I
150000 - |
100000 ' ' '
50000 |
® data packets
® Irs triggers
® PPS packets
0 A . ' . ® other
T T T T
0.0 0.2 0.4 0.6 0.8 1.0
receipt_timestamp 1le7




140000

120000

100000

80000 +

60000 -

40000

20000

3 4 5
receipt_timestamp




charge [ADC]

io_group 1 io_group 3 io_group 5 io_group 7

io_group 2 io_group 4 io_group 6 io_group 8
250 -
200 -
150 4
100 4
S,D -

0 T T T
1 3 4 5 6 a8
timestamp%spill_period le6



Counts

Total interactions per spill

20 +

10 ~

4 6
Interactions

10



Counts

Pixels hit per event

20 +

10 ~

0

1000

|

T
2000

T
3000
Pixels

-
4000

-
5000

T
6000



3.0

Triggers Per Spill (198 Spills)

2.5 1

2.0 1

Triggers
=
wn

1.0

0.5

0.0

B Light: 198 triggers

[ 1 Pacman: 198 triggers

25

50

75 100 125 150
Spill

17

5

200



SiPM Channel Output

Module 1, Event 0, Optical Channel 1
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Pre-Trigger Noise Example (No Pedestal): Module 3

SiPM Channel Output

— ACL
LCM

0 10 20 30 40 50 60




Power Spectrum [dB]

I I I I
S N
[ ] co o Ny
o [ [ ]

—220
—240
—260
—280
—300

ACL Pre-Trigger Noise Power Spectrum

larnd-sim: Pre-Trigger Noise, 3000 Waveforms

LCM Pre-Trigger Noise Power Spectrum

D_

10°

10 15 EID
Frequency [MHz]

101

D_

5 l;[] l|5 EID
Frequency [MHz]

102



Ratio End/Pretrigger

MiniRun5: Ratios of the Average Noise Amplitude: [950:1000]/[0:50]
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